Understand Ratios
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1. In Suri’s coin purse, she has 6 dimes and
4 quarters. Martha has 5 dimes and
3 quarters. Suri thinks that the ratio of dimes
to quarters in both purses is the same
because they each have 2 more quarters
than dimes. Is the same ratio of dimes to
quarters maintained? Justify your response.
(Example 1)

3. Riley needs to make fruit punch for the
family reunion. One batch of punch has the
ingredients shown. If the punch bowl holds
27 cups, how many cups of orange juice will
she need to keep the ratio in a full punch
bowl the same? (Example 2)

tem ‘ Cups
Cranberry Juice -1 |
Lemon Lime Soda i |
Orange Juice _ 2
2

' Pineapple Juice

5. Mrs. Santiago is buying doughnuts for her
office. Each box contains 6 glazed, 4 cream
filled, and 2 chocolate flavored doughnuts. If
there were 20 total cream filled doughnuts,
how many chocolate doughnuts did she
buy? (Example 3)

Period Date
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2. In a trivia game, Levi answered 8 questions

correctly out of 10 turns in the game. He
then answered the next three questions
correctly. He reasoned that because he
added 3 to both the total questions and his
correct responses, that the ratio of correct
answers to total questions remained the
same. Is he correct? Justify your response.
(Example 1)

4. A small fruit basket contains the fruits

shown. A large basket has the same ratio of
fruits as the small basket. If the large basket

has 42 total pieces of fruit, how many are
pears? (Example 2)

Type of Fruit ‘ Amount

Apple . 6
I i

| Orange 5
| Pear _ 2

6. A small batch of trail mix contains 2 cups of

raisins, 2 cups of peanuts, 1 cup of sunflower
seeds, and 1 cup of chocolate coated
candies. A large batch has the same ratio of
ingredients as a small batch. If the large
batch has 8 cups of peanuts, how many
cups of sunflower seeds are in a large
batch? Example 3)
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